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Elastic structural analysis makes use of

A) Linear stress— strainrelation only

B) Elasticity only

C) Elasticandlinear stress— strain relation

D) Elasticbut either linear or no linear stressstrain relation

Dueto certain temperatureincrease, theriseif the three hinged arch increased
by 1%. The horizontal thrust will then

A) increase by 1%

B) decrease by 1%

C) nochange

D) none of these

P.T.O.
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The moment at intermediate support of a two-span continuous beam of 6 m
each with simple support at the ends carrying anudl of 20 kN/m over the left
spanis (El same)

A) 60kN-m hogging B) 45kN-mhogging
C) 45kN-msagging D) OKN-m

Minimum pitch of transversereinforcementinacolumnis

A) theleast lateral dimension of member

B) sixteentimesthesmallest dimeter of longitudinal reinforcement bar to be
tied

C) forty-eight timesthediameter of transverse reinforcement.

D) lesser of above three values

The four cross sections shown below are required to be ordered in the
increasing order of their respective shape factor

I I 1 v

Which of the following order is correct?
A) HEL LIV B) LILIILIV
C) HILIV.ILI D) HL IV

Properties of flow net is/are

A) Flow linesare perpendicular to equipotential lines.

B) Notwo flow linesor equipotential lines start from same point
C) Notwo flow lines cross each other

D) Allabove
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Negative skin friction on apile under vertical compressive load acts
A) downward and increases the load carrying capacity of pile.

B) downward and decreases the load carrying capacity of pile.

C) upward and increasesthe load carrying capacity of pile.

D) downward and maintainstheload carrying capacity of pile.

Following is a component of ecosystem
A) Abiotic substances B) Producers

C) consumers D) All of theabove

1S 10500:2012 for drinking water quality is
A) ONTU B) 1NTU
C) 5NTU D) 10NTU

Following method is used for softening of hard water
A) Bailing B) Lime-Soda
C) lonexchange D) All of theabove

Theroleof Environmental Engineer is
A) Water conservation B) Environmental protection

C) Forestation D) All of theabove

For type settling, particleremoval isindependent of
A) Surface areaof basin B) Depth of basin
C) Detentiontime D) Density of particles
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Pavement issaid to beflexibleif it contains

A) water bound macadam surface

D) stabilized soil base constructed of lime cement or tar
C) bitumen-bound stonelayer of varying aggregates

D) altheabove

Traffic surveys are carried out

A) to know the type of traffic

B) todeterminethefacilitiesto traffic regulations
C) todesign proper drainage system

D) dltheabove

Thetype ol transition curves generally provided on hill roads. is
A) circular B) cubic parabola

C) Lemniscates D) gspird

The network in which the analysisiswider and lessrigidly structuredis
A) PERT Network B) CPM Network
C) Decision Network D) None of Above.

| dentify which of the following does not represent an activity
A) Foundation excavation is being done

B) Masonry work up to plinth is being done

C) Siteleveingiscompleted

D) Concreting of foundation is being done
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Dimensions of surfacetension are
A) ML°T? B) ML°T
C) MLr? D) ML?T?

A ship whose hull length is 100 m is to travel at 10 m/sec. For dynamic
similarity, at what velocity should a1:25 model be towed through water?

A) 10 m/sec B) 25m/sec
C) 2m/sec D) 50 m/sec

The hydraulic mean depth for acircular pipe of diameter (d) is
A) di6 B) d/A4
C) d2 D) d

If A isthe depth of water in metres. B is the number of days of base period
and D isthe duty in hactare/cumec. the relationship which holds good. is

8.64D 8.64D
D=A—— B=A———
A) B B) D
8.64A 8.64B
D=—— A=———
C) 3 D) 5
In a syphon agueduct

A) Drainage passes over the cana and F.S.L. of the canal is below the
bottom of the drainage trough

B) Drainage passes over the canal and FS.L. of the cana is above the
bottom of the drainage trough

C) Canal passes over the drainage and H.F.L of the drainage is above the
bottom of the canal trough

D) Canal passes over the drainage and H.F.L of the drainage is below the
bottom of the canal trough
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Using Newton-Raphson method. find a root correct to three decimal places
of the equation x3- 3x -5=0

A) 2275 B) 2279
C) 2222 D) None of these

For abinomial distribution, if p isprobability of success and q is probability
of fallurethen

A p=qg=1/2 B) p+qg=I
C) pq =1 D)p+q=0
Rank of the matrix A =

0O 00O

4 2 3 0

1 0 0O

4 0 3 0

A 1 B) 2

C) 3 D) 4

Which of the set of activities best indicate the cyclic nature of action research
strategy.

A) Reflect, Observe, Plan, Act
B) Observe, Act, Reflect, plan
C) Act, Plan, Observe, Reflect
D) Plan, act, Observe, Reflect
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In which of the following arrangements awider spectrum of ideas and issues
may be made possible.

A) Researcharticle C) Conference
B) Workshop mode D) Symposium

The First step of research is.
A) ldentification of Problem C) SdectingaProblem
B) Searching aProblem D) FindingaProblem

The issue of research ethics may be considered pertinent at which stage of
research.

A) At thestage of problem formulation and itsdefinition
B) Atthe stage of defining the population of research

C) Atthestage of datacollection and interpretation

D) Atthestage of reporting the findings

The depth of any research can be judged by.
A) Titleof theresearch

B) Total expenditure on research

C) Duration of research

D) Objectives of research

Which of thefollowingisaninitial mandatory requirement for pursuing research?
A) Developing aresearch design

B) Formulating aresearch question

C) Deciding about the data analysis procedure

D) Formulating aresearch hypothesis
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A ratio representsthe relation between.
A) Part and part

B) Part and Whole

C) Wholeandwhole

D) Alltheabove

Which of the following statements is not true in the context of participatory
research?

A) It recognizes knowledge as power
B) It emphasizes on people as experts
C) Itisacollective processof enquiry

D) Itssole purpose is production of knowledge

To test Null Hypothesis. a researcher uses.
A) Ttest B) ANOVA
C) X2 D) Factoria Anaysis

Which of the following are the characteristics of aseminar.
a  Itisform of academic instruction
b. Itinvolves questioning, discussion and debates
c. Itinvolveslargegroup of individuals
d. It needsinvolvement of skilled persons
Select correct answer from the codes given below
A) bandc B) bandd
C) c.b.andd D) abandd
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A researcher is interested in studying the prospects of a particular political
party in an urban area. What tool should he prefer for the study

A) Rating Scale B) Interview
C) Questionnaire D) Schedule

Ethical normsin research do not involve guidelinesfor.
A) Thesis Format B) Copyright
C) Patenting policy D) Datasharing policies

A definition that hasameaning that isdeliberately assigned to some symbol is
called.

A) Lexicd B) Persuasive

C) Stpulative D) Precising

A cluster of propositionswith astructure that exhibits someinferenceiscalled
A) Aninference

B) Anargument

C) Anexpansion

D) AVaidargument

We use Factorial Analysis.

A) To know the relationship between two variables
B) To test the hypothesis

C) To know the difference between two variables

D) Toknow the difference among many variables

-O-
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Research is

A) Searchingagainand again

B) Finding solution to any problem

C) Workinginascientific way to search for truth of any problem

D) None of the above

Which one of the following is not a source of data.
A) Population data B) GIS

C) Census D) Administrativerecords

Research is considered not ethical if.

A) Triesto prove aparticular point

B) Does not ensure privacy of the respondent
C) Doesnotinvestigatethedatascientifically
D) Isnot of very high standard

Newton gave three basic laws of motion.
A) Descriptiveresearch B) Samplesurvey
C) Fundamenta Research D) Appliedresearch

Which of the following is susceptible to the issue of research ethics.
A) Inaccurate application of statistical technique

B) Faculty research design

C) Choiceof sampling technique

D) Reporting of research findings
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In qualitative research paradigm, which of the following features may be
considered critical.

A) Datacollection with standardized research tool

B) Sampling design with probability sampletechniques

C) Datacollectionwith bottom-up empirical evidences

D) Datagathering to take with top down systematic evidences

Which of thefollowingisaninitia mandatory requirement for per suing research
A) Developing aresearch design

B) Formulating aresearch question

C) Deciding about the data analysis procedure

D) Formulating aresearch hypothesis

Controlled group condition isapplied in.
A) Survey research B) Historical research
C) Experimenta Research D) Descriptiveresearch

Field Work based research is classified as.
A) Empiricd B) Hisorical
C) Expeimenta D) Biographica

The format of the thesisissame asin.
A) Preparation of research paper

B) Writing of seminar presentation
C) Aresearchdissertation

D) Presenting aworkshop

BB K
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